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I 10 mwn: further circumstances where only 93 is paid
a  incomplete sale:
i if he sells only part of the animal (even 99/100)
1 17 aslong as he kept back something which no'nw permits (e.g. meat)
2 nY: anything, except the wool (similar ruling in a xn»91)
(a) challenge: (xn»11) - 11 follows none of these (1% follows xr”2w)
(i) p"n - anything kept back prevents liability for 4/5 — as per v. 1, just as nmav is entire, so n7an
(if) »21 - anything which holds back nvo'nw prevents liability for 4/5 — v. 1 ties n717an to nvnw
(iif) ®"aw (version #1) — even keeping the horns prevents liability, but not the shearing
(b) answer: 21 follows alternate version of 8”av1 — shearing or horns don’t prevent it, meat does
(i) Explanation of dispute between versions:
1. v1: the horns weren’t going to be cut off, unlike the wool
2. v2: neither horns nor wool are permitted via nomw
3 associated 8117771 if he a disabled animal, or a co-owned animal — 27n; but partners who steal are 1102
(a) challenge: if partners steal — they are liable
(i) answer (ypn277): 1 partner stealing from another — 19; if a partner steals from an outsider — 27n
1. Challenge (837): v. 1 —no liability for 1 partner stealing from another or partners’ theft
(if) Rather (279): partner slaughtering with consent of partner — 2n; w/o consent — 170a (incomplete yn2vY)
(b) Related questions:
(i) o7 7 incomplete sale (x-out 30 days; x-out narYn, exclude 121) —is it nvon (= 4/5)?
1. Last part only meaningful: if we hold R 71 185 921; since it will be expelled, not a 71w (liable) or
since it can only be presently permitted via nvo’nw of mother, considered a 7w (exempt) -1p'n
(if) ~99 "1 if he stole, amputed an arm and sold it — is he liable?
1. What he stole isn’t what he sold (1109) or what he stole he didn’t keep for himself (20n) —1p’n
4 Associated xn77x: if he stole and gave to another for nvnw, or for sale,
(a) Teaching: (teaching that nonwH MYV W’ as per NM¥av::NIN)
5  And if he: stole and w»1pn, sold on credit, swapped, gave as a gift/mn%av, used to pay a debt —a»n
(a) Teaching: “selling” to w1pn (if he was w»7pn) = selling to a citizen (2PW5 11310 *Y NN VYTAY 1IN 'Y NN)
ii  if he was a partner (prior to stealing it)
b incorrect v’nw: if it became a N1y, if he stabbed it or pulled out the oo
II 20 mwn: if either N2 or n"v happen outside of m*Yya mwA — liable; but if both happen in his mwa — 7109
I v mwn:if he was pulling it out and it died %ya mwia - 10s
a  But if: he picked it up or it died outside of m'9ya mw —liable
b Parallel: if the owner (n”an7) or a1 (1 take in »"w7) gave the animal as payment for jan 1179 or to a creditor, or to a 1MWV
¢ If: he (the recipient) was dragging it out of D’9»2 mw1 and it died — 1109 (non-reception); if he picked it up or it died
outside of m9ya mw1 — liable (considered received)
d  Question (9920x): did Dman establish nawn Pp for DINMIWY?
i Answer (from our mwn): yes — as per k2o (don’t read 7vn as referring to 11, as that was taught in xw»)
ii  Supporting 817772 n2*wn was established for 1MW as for mmpY; NprMY W Qo3 for YpIp MW as for YpIp Ip
e  Tangential ruling: if he was seen laying in ambush in forest to rustle animals — pays 4/5, if he made 1p (directing with
staff) and even though he was seen, since he was hiding, considered a1; 1911 defined by vv. 2 or 3
f  Aggadic excurses
i 72177 77 21 pays Y93 (or 4/5) over 191 — concerned with being seen — but not with God’s “sight” (as per vv. 4-6)
ii ~ »”r man who invites friends but not king to party worse than someone who invites no one
iii  p"rnw->4; M->5; because NarYN is so significant and he took the MY away from its work (sheep only graze)
iv /7 same equation teaches ny1an T2, because the ox walked but the 113 had to carry the lamb
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